
Time: 10 Minutes Paper Science 4 Total Marks: 10

1st Month, 4 Week, 1st Day Syllabus: Unit # 1 Parts of plants and their

functions

Q.No.1 Encircle the correct answer from the following choices. (1×6=6)


i. There are _____ important parts in a flowering plant.


(a) 2 (b) 3 (c) 4 (d) 5

ii. Which of the following part of plant is present under the ground?


(a) Stem  (b) Leave  (c) Root  (d) Flower 
iii. Which part of plant makes food for it? 
(a) Leave  (b) Seed  (c) Root  (d) Flower 
iv. It supports the plant. 
(a) Stem  (b) Seed  (c) Root  (d) Flower 
v. Which fruit has many seeds? 
(a) Papaya  (b) Mango  (c) Apricot  (d) Peach 
vi. The colour of leaves is: 
(a) Yellow  (b) Green  (c) Red   (d) Blue 
Q.No.2. Write short answers. (224) 
(i) What is the function of leaves? 
(ii) Write names of fruits which have more than on seeds.


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